EAGRAROBREERT — 2 N— ABISH —F

2020558270 (k) SEIEZ&HE2H

mT»r F X7 A4 HSH— ESEE R
[A&4£] 1 7% :500,000  ~ 23#&:160,000  ~ 33#&:90,000H  43#&:60,000™ . 53 :40,000 9
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
— EEiE: :28. 22— . - BriE—A (BHE)
1188 KYS4 71—k 4 5 195 1(2_8)3 2-2-2-1 |38.4 1 (4+729) Ay
LY IRGTATIR BiRkIZATRF Ete ]
N =< DOREERA— :28. —-3-3- . — ROFEE (BHE)
5 MRS i 6 s 1(218)5 3-3-3-3 |38.3 2 (4:322) e
L ZF7A4d—V K B:a9I(VT47 AXRETa—T7—L4h
N . SHEA . £ | — MTEAN (BEHE)
sl7l 7| ve—o=> # 5 | SHE 1.(380>.2 5-5-5-5 | 39.5 5 (5&7) 7:%%—
R:ECTFAVY Bt/ XT3 ke
2 # 5 | ANRE 1:30.3 4-4-4-4 | 39.9| — 3 497 fBEX (BHE)
N 1 MG 56.0 (2 E) (+2) | ZENsEAE
L:Av—hrT77)a> B:¥FyXX42— =Y Tr—L
N = = o5 | BT 1:30.5 1-1-1-2 [ 40.7| — 4 464 | HLEE (BHE)
5I1[1]3F/T12N=— 52,0 (1 172) (-2 |§OAH
R:2&—-1)>yA-X B:3x%x/7LY1>FR REpRE= e
S TS KBt :30. —8-6- . — BriE—A (BEHE)
el 6| TTRIVIZE—7 i 56.0 1(73?:? 866 |95 6 (‘ﬁ; ==
L:b—t>ya—4> B:Y—a1-% 57— HE A
o > KR AiZE :30. -7-7- . — BHER (BHE)
N AT oo | A R
o400 B:hoha457 [orae]
. . KA = . s — SEEy (BHE)
alsls|amTrm=s # 9 | AR (;iz.ﬁf_s) 6-6-8-8 | 41.7 8 <5_3:; i
L:Vv IRy b B:YarFrelLd HE &
® I —F—@EBIERL
1 ==cF= 1,8,2,4,7,5,3,6
2ol=7F= 1,8,2,4,7,5,3,6
Jo=3r= 1,8,2,4,7,6,3,5
41—+ — 8,1,2,4,7,6,3,5
[ RN
B OB 8 110M 714K 2-8 200 B = 2-8 3604 3ER 2-7-8 870
1 B 8 100M 7-8 260 B H 8-2 410 JEH 8-2-7 1,800
2 170M 2-7 780M
7 2204

ARICOVWTRDTEEERROODE. TR LI,




